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Multiplikation - vertikal Name:
L 6se jede Aufgabe. Antworten
761 2 759 3 569 4 123 .
[ ] 4 ° 5 ° 5 ; 9 .
2.
3.
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5 126 6) 192 ) 736 8 791 i
° 7 ° 7 ° 2 ; 3 '
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7.
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° 8 ° 2 . 7 ; 3 .
10.
11.
12.
B 216 14) 243 15 862 16) 145
13.
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15.
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2 3 4
761 ) 759 ) 569 ) 123 . 3044
° 4 ° 5 . 5 ; 9
3.044 3.795 2.845 1.107 , 3.795
3 2.845
4 1.107
5) 6 7 8
126 ) 192 ) 736 ) 791 . 882
. 7 . 7 . 2 . 3
882 1.344 1.472 2.373 6 1.344
- 1.472
8 2.373
9 10 11 12
) 221 ) 482 ) 575 ) 716 . 1768
. 8 « 2 . 7 . 3
1.768 964 4.025 2.148 10 964
1 4.025
n 2.148
13 14 15 16
) 216 ) 243 ) 862 ) 145 " 432
e« 2 . 8 . 3 e 3
432 1.944 2.586 435 u 1.944
15, 2.586
16, 435
17 18 19 20
) 873 ) 484 ) 895 ) 425 7 6111
. 7 . 4 e 6 . 4
6.111 1.936 5.370 1.700 s 1.936
9. 5.370
0. 1.700
1-10 195(90(85|80| 7570|6560 |55 |50
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